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_PART - I
GENERAL INTELLIGENCE & REASONING

Direction : In question no. 1 to 6 select the related | Direction : In question no. 13 and 14 which one of

word/letters/number from the giveh alternatives, the given responses would be a meaningful order of
l " the following ?
M uava . Mango - - E L
(A) Juice : Frgu“ 13. (1) Sentence (2) Word {3) Chapter
(B) Badminton : Shuttle cock | (4) Phﬁ-ﬂ; E (S) paragraph
C) Bhils : N . (A) (2), (4), 3), (1).4(5) -
:n; ook + et @ (2)i14), (1.(5) (3)
(C)_(2).(5), (4), (1), (3)
2. ABCDE : KLMNO : : FGHI) : _7 () '[]'}r {1]} (3), (4), (5)
(A) UVWXY PQRST
14, (1) Asia (2) Goa (3) Panji
(C} hms AR e }:%, India (5) World
(3), (2), (4), (1), (5)
- IR ] : ? .
o e T | ® @000
g 5 bive | (© BL(, ()4 (5)
m : (D) (5). (1), (2). (3] (4)
4 RACE: BACE : < CARE: _?
| A Direction : In question no, 15 to 17, a series |s given,
(&) FARE ﬁs CAFE with one term missing. Choose the correct alternative
(C) CEAF (D) ACRE from the given ones that will complete the series.
5. E647:17::798: 2 ' 15. 240, 240, 120,40, 10, 2, _ 2
1
Wi it (€) 33 (™ 2¢ (A{‘I. E (B) 2, % (C) 2,1 (D) 2, c
8. 7:11::31:_ 17
(A) 17 (8) 23 ;.E‘/i? (D) 43 || 16, MO, I, 2L, OF

(A) EF gaf Gl (C) CD (D) AE
Direction : In question no. 7 to 12, find the odd

number/letters/number pair from the given | 17, 21,23, 26, _2 . 35
alternatives. : (A) 28 {E 30 (C) 32 (D) 29
7 Uy 55,00 200 T 18. Which t-of latters wh tially
196 - ch ona se s en sequen
(C) 123, 145 (P 169 placed at-the gaps in the given letter series shall
compléete It 7
8. (A) Sugar i5f5“"¢h ab-_ddec_bab_ddca_abc_dca_
(C) Giucose (D) Protein P [Af cacbdb (B) cdabdec
(Ccdabed (D)dabcdc
9. {i{ Map ,I'E Globe | )
(C) Compass ::P'J Microscope | 19, If 14+18=14, 26+ 39=20, 414 51=11,then
' 924+13=7
10. (N VP, (8) WAT | (€).0RG, (0) BUR, ) 19 (815 (C) 65 (D) 115

11, (A) EAC- (B) JFH @ OMK (D) TPR | 20, 1f°F is the brother of ‘A, °C’ is the daughter of
| "A' K’ is the sister of 'F" and G is the brother of
12. (A) 15,24, 35 (B) 3,8, 15 || ‘C’, then who is the uncle of "G’ ?
(@ 35, 49, 63 (D) 120, 143, 168 |i (A) A (8) C () F (D) K

SPACE FOR ROUGH WORK
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i - 1
A R v abefa
e e w1 R 6, iy e Readl ¥ & waPag wezy | Bidw : we weEn 13 @ 14, B Resd 4 @ A
el B g | e e 22 g vl @ e o awfan &7
1. UGS :MW::_ 2 13, (1) ¥&g (2) & (3} ey
(A) T 5 _ (4) aream (5) s (fars)
(8) ¥ufire - vew wiw (fufn) (A) (2), }4}, lEI;, E;:;E?}
c %:m IB} [1]r q‘}i{i ] ¥
© : (C)-2): (5) (4), (1), (3)
(D) g5 T Q) (1), (2), (3), (4).(5)
2. ﬂm';';,“”ﬂ = "‘ig;’mfn;-T— (24, (1) vien (2) W (3) Tom
(C) ONMLK (D) UQMIE i (4) WE (5) fama
(A (3),(2),(4), (1), (5)
3. TR SAe: 7 :g:; Eg; Eg}’ ﬁ.ﬂ; E:i
| ¥ Ll 1‘ ¥ 4 #
() g Ry L D) (5). (1), Q). (3), (4)
(C) Z&N (D) g&& wreen
Fén cvm FEn 159 174t s R k. e v
4. RACE:FACE::CARE: _2 ;
(A). FARE (B) CAFE g o« &l fEw w el A ¥ 7% af few ofw @
(C) CEAF (D) ACRE A B FT |
S. 647:17::798:__1 15. 240, 240, 120, 40, 10, _2 7
(a) 23 (8) 27 (C) 33 (D) 24 : 1 :
6. 7:11::31:_1 ! wl'i G2g ©@21 @23
(A} 17 (B) 23 (©) 37 (D) 43
16. MO, JL, 7 ,DF
Prdm v Wam 7 @ 12 95§, far  faeedl & @ fiwm (A) EF (8) GI {C) CD (D) AE
v el e g g 17. 21.23,26, % .38
7. (A) 51, 66 (B) B3, 102 (A) 28 (8) 30 (Q) 32 (D) 29
(C) 123, 146 (D) 169, 196
8. (A W @) s (wrd) 18. :ﬂmﬂm—m?mi:;ﬂWMMﬂ
Ean HER WA B I
(©) = (D) WIEH ab ddc_bab_ddca_abc_dca_
9, () e | " (A} cacbdb (B) cdabdc
(8) 7 ( } | {Cl cdabcd (D) dabede
(C) ToE (Faegm) 19. T 1441814, 264+39=20, 41+51=11,
(D) et 92 413=?
10. (A) YIP  (B)WIAT (C)ORG (D) BUP | Arae  AIs - Qes (D) 1l
11. (A) EAC/ (@) Jd  (C) OMK (D) TPR | 20. afE'FuRR A @ CTRAYAH, wakatrd,
12. (A) 15, 24, 35 (B) 3,8, 15 3R G AR RO w6 a B R

(C) 35,749, 63 (D} 120, 143, 168

(A) A (8) C Q) F (D) K

%6 &1d & ford W
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21.

2‘:

26.

Direction : In question no. 27 and 28, select the i'

IIB=8B,L=7,0=5,C=9, K;d. Using the given
total, find cut the missing symbol in the
following block.

Blo|(?|B|B|=33

we  ®L @x Oc

if 3.:'--JL égfg is coded u’i‘?&q I'g"l:l'b»r:n how will
MOCTALM be coded ?

(A) TMOCMAL (B COMTMLA

(C) MOCTLAM (D) COMTALM

Find the least number that on being subtracted
by B, Is exactly divisible by 32, 36 and 40.

1440 (B) 1444
(C) 1446 . (D) 1448

Select the correct combination of mathematical
signs to replace * signs.and to balance the given
equation.

2446%343%1 =14
W=+ s- @ exa-

(C) X+ — + D) + -+ X

From the given alternatives select the word
which cannot be formed using the letters of the
given word.

CHOREOGRAPHY

(A) PRAY (B) GROPE

(C) CARRY (B) GREAT

If "MEMORY"’ Is written as 454697 in a certain
code language how will ‘PRIVATE’ be written In
the same code language.

(A) 9742251 (&) 7954125

(&7 7919125 (D) 7992541

missing number from the glven responses.

27.

3 5 7
4 6 8
W
26 38 ?
(A} 40

(B8] <€ (D) 58

%o

(C) 27 (D) 29

GB-2014/Paged

You travel towards north 4 km, then tum left
and travel towards west 2 km, then again turn
left and travel 4 km. How far are you from the

starting point ?
®f 2km

(A) 1km
(€) 3km (D) 4 km

29.

30. A man travelled 2 kms westwards, turmmed left-- .
and walked 3 kms-and further walked 5 kms
after turning right. What s the total distance

covered by him while travelling ?

(A) 5 km &1 10 km
(C) 15 km (D) Cannot be determined

31. A person starts towards the North. Which of

the following orders of directions will lead him
to the East ?

(A) Right, Right, Right
(cY Right, Right, LeR

I ——

(B) Right, Left, Left
(D) Left, Right, Left

32. A vehicle starts from point A and runs 10 km
towards north, turns to Its right and runs
15 km. It then turns to its right again and runs
another 10 km to reach point B. After reaching

point B, haw far is the vehicle from the starting

T ol el e

point A ?
(A) 35km cu)/ 15 km
(C) 10 km (D) 5km

Direction : in question no. 33 and 34 oneftwo
statements Isfare given followed by two conclusions
. 1 and 11. You hawe to consider the statements
|| Inference to be true éwen [ they seem to be at variance
from commoniy known facts. You are to decide which
of the given canclusions, if any, follow from the given
|\ statements. Indicate your answer.

33, Statement ; Mostly boys leel happy In play

cricket. .
Mostly girls like to play with dolis.
Inference : Girls are more Intelligent than Boys.
(&) If the inference is correct
(B) Ir'the inference Is wrong
(GX 1 the Inference may be correct or wrong
Hﬁ If the inferepce s irrelevant

SPACE FOR ROUGH WORK
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afgB=8,L=7,0=5,C=9,K=40 R grdma | 29,
war wE Fraiafea =it § agm gew
Cuiend

Blo]z]|s|B]|=33

(A) B ®L > (©K

af STABOIC ¥ ATSBCIO ¥ W4 ¥ P v o

& mocTaLm = &9 greae fam s ?
(A) TMOCMAL (B)  COMTMLA
(C) MOCTLAM (D) COMTALM

ue g ¥ orf) e wm Hifw Rl & 8 wed o

TE 32, 36 AT 40 ¥ T WY | 7og w0 |
(A) 1440 (B) 1444
(C) 1446 (D) 1448

(D) C

30.

31.
fEn ™ whEw w1 dgfea @ o * w9

ftreanfia @ ¥ fye aftrdir fogl = w8 o9 w5F |
§ dl 5

24 6%3%3%1 =14
(A) =+ - {(B) + x + -
(D) + = + X%

(C) o + = +
Pretfore frred 4 4 98 w g @ fig e

& FE] T YU T 6 R g
CHOREOGRAPHY
(A) PRAY

(C) CARRY

32.

i
(8) GROPE i
(D) GREAT |I

oft sl 3T wm # "MEMORY' BT 454697 férn
omen & o S g W A CPRIVATE @1 &% feren
Y

(A) 9742251
(C) 7919125

(B) 7994125
(D) 7992541

M I B 4 fp A, o @ ¥ gwd we g
e tdr i 2 A o v ¥ am
#frran pEEv 4 A o wve § 1 am e

e ¥ e T E7
(A) 1754, (B) 2%,
(c) 3fEA, (D) &

UE =i e fm A et 2 @0 e s e,
arft @i i B A 3. e & dhe v
ardt Sy o & e s 6 A, werm ¥ e e

g et ool gl o e &7
() s, (B) 10fH A1,
(C) 15T A, (D) Fiftss 7 fem o v

va wfea wav fm 1 v a@e Y @em )
frafafaa 4 @ -8 B w1 @ @ o = &n
Jwem?

() T, 7l 7d  (8) T, W&

() v,z wd (D) wid T wd

@ 9, g A S TerE 10 5 R w fam o we
v, 2t geev 15 A gom B e fw & =i
qewy 10f5 A aeox g ewoiam k) frg e
W g & W% T TS fig AR few R ¥?
() 3sfEam. (8) 15fEA,
(C) 10, (D) sfsa,

Prdm ;o v 33 O] 34 0 Te/R) weli ¥ sm A
e [ d® 1 R O B | Ao Tl w9 @ e e
| Hen & W e awi e w@eed g awe
 fofa =T ¥ % Ry el DA wm-R, ok B g,
fifteo v ¥ R S & anar 17 e o 9 £

e 133, W witwoR el e deme gu gl §
(- it el 7feed e v aed
5 7 9 L] ;
26 38 ? | frapd : wrefal weat W afts afgmm B0 %
(A) 40  (B) 48[ (Cy50 (D) 58 ) Pred et
28. 1 3 4 () fesd e &
g0 RN (C) T e w80 o 8w &
(h) 42 (B) 35 (C) 27 (D) 29 (D) Fred s &

% &l & ol o
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Statement : Morning walks are good for health.

ConclusionsI. All healthy people go for
momning walks.

II. Evening walks are harmful.
(A) If only conclusion I and II follow
(B) If either conclusion I or II follows
{C) If neither conclusion I nor II follows
(D) If only conclusion 1 follows

In a library following Dewey Decmal System,
four books with the following call numbers are
in order :

813.04
P38

813.2
B35

813.04
P4

813.13
K32

|
|
|
|
i
i
'1

| Direction : Question no. 37 and 38. Below are given
some Roll Numbers of candidates registered at

If another set of four books with the following |

call numbers are retumed, which will be the
correct order to shélve them ?

407.3 _ 4024 “407.21  402.14
ca 3 Mz a2
(A) - 407.21 407.3 40214  402.14
M12 C21 J21 13
() 407.3 40214 407.21  402.14
c21.  J21 Mi2 )3
(ef 40214 402.14 407.21  407.3
210 13 M2 c21
(D) 40214 402.14 407.3  407.21
B a1 e M12

You are given the address of a town, fulluwﬂ:d
by four alternatives. Of these, only one

|
I
]
!
I
|

matches while the others have some mistakes, |

You are to choose exactly the same the given |

one as your answer,

Kala Shanmugham, C/o ASA, Lamba Ling,
Junglighat, Port Blair 744103

(A) Kala Shenmugham, Cfo ASA, Lamba Line,
Junglighat Port Blair 744103

(B) Kala Shanmughan, C/o ASA; Lamba Lane,
Junglighat, Port Blair 744103

Kala Shanmugham, C/o ASA, Lamba Line,
Junglighat, Port Blair 744103

(D) Kala Shanmugham, C/o ASA Lamba Line,
Junglighat, Port Blair, 744130

"

4'

FEES S,

different centres for an examination.
| digits from the left stand for the centre code and the

The first two

next four for the serial number of the candidates
registered at the céntre. Give answers based on its
given Roll numbers.

37.

| 39.

. 40.

! "'1!

305328 703823 305112 701103
B036237 705339612804 905014
301192 yv1e801 212502 304102
600031 512284 B13251 906801
Which of the following centre pairs had some
common serial numbers ?

(A 0 and 11 (B) 30 and 51
(C) 80 and 70 (D) 61 and 11
S03312 403851 305717 608121
409701 405881 937771 531813
443290 531812 800313673181
S38421 490512 200521 301101
Which of the following centres had highest serial
number ?

@20 @Ef40 (©60 (D) 80

When you find a student doing mischievous
activity :

(A) Report to Principal/Headmaster.

(B) Listen to the student and counsel.

(C) Punish.

(D) Inform the parents.

If you are in a situation-at classroom where your
student is bullying or harassing you :

(A) Make an appeointment to talk with your
student to _attempt to cormect him.

Ask the student to leave the classroom 1o
the counselior.

(C) Confront him/her and make him/her to
apologise.

(D) Concentrate on your teaching avoiding him.

Either Rehman is a farmer or a carpenter.
w’ Rehman is not a farmer or a carpenter.
(B) Rehman is not a carpenter but a farmer.
(C) Rehman is not a carpenter.

(D) Rehman is not a farmer.

SPACE FOR ROUGH WORK
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yA : GO o O W & fow o A R

frepd L. TR T iR g A W F R aR ¥
11, ¥ ¥ & afens a0 E

(A) e frerd 19 11 e B

(8) = i Frepd 1 11 Presern &

() = i frsad 1 3w =1 11 Pravern &

(D) Few Fred 1 Prwerm & T

TR IR UG AT AR TF TS W

frfefa du-vem el o gwrd oa 4 & i
813.04 813.04  813.13 _ (B132 [
P38 P4 K32 835

af Freifefea e Hem 1w =T g ®1 v & |
e vhern e § O, o frw w8 oY sl

T ANy |
407.3 402.14  407.21  402.14
c21 13 M12 121
(A) 407.21 407.3 402.14  402.14
M12 C21 21 13
(B) 407.3 402.14 407.21  402.14
C21 )21 M12 13
(C) 402.14 402.14 407.21  407.3
)21 3 M12 Cc21
(D) 402.14 402.14 407.3  407.21
13 21 ca M12 f

W4 v Wt w1 g R mm &1 oed a Ry |

mm#ﬂmwﬁmmﬁmﬁmi

a1 7 o ol B1 a5 Rew yiw @ o @ |

g ave frem B

Kala Shanmugham, C/o ASA, Lamba Line,

Junglighat, Port Blair 744103 '

(A) Kala Shenmugham, C/o ASA, Lamba Line, ;|

Junglighat Port Blair 744103

(B) Kala Shanmughan, Cfo ASA, Lamba Lane, [
Junglighat, Port Blair 744103

(C) Kala Shanmugham, C/o ASA, Lamba Line, I
Junglighat, Port Blair 744103 |

I
(D) Kala Shanmugham, C/o ASA Lamba Line, |
Junglighat, Port Blair, 744130 |

e v . 37 ARk 3s o, N RAfym &= A @ wha
% fom voirpa o arafifdl & Ve aw Ry oy & Al
SN ¥ waw B o ¥y W EFA L AN ST AR TWER W
toltga arvufifdl & waie & for | ST @ O 9. SR
w S

38.

39.

41.

fepfofaa few $o o2 f amw oa dem &7
(A 90 3 11 (B) 30 3% 51
(C) 80 3R 70 (D) 61 3% 11

o N el fadi S R s o E A
(A) e s @) e e

(8) famndi =t a5 gol & v 98 qwpEl <9
(c) ds dA ¥

() wen-fiven =1 ¥fe wa K

oft wen # amy ¥ el A4 & i Randt s e

1 W WY B W

(A) wo faendi 9 a9 20 @ W o € AR e
G TR B4 € |

(8) - oy e § e 9 & forg Al qeeiem
T U AR & o wEa )

(©) FTe fidte T & ol o e W & R
FEAE |

(D) T &N T ¥, 0 o1 e S wwa §

TEAH T o fra & m oagd

(A) e feam @ aed =8 &

(8) venr ugt A8 & afts ram B
(C) VoA 9gs 7 ¥

(D) & frar 78 &

ﬁaﬂﬁﬁmﬁm
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A colleague has an emergency situation at home
and hence is unable to finish her work in the
office. You would :
(A) admonish (B) advice
(C) criticise (@) show concern

A group of children in a class are always nolsy
and boisterous. The teacher should :

(A) Punish the children in front of others.
(B) Wamn the children and tell the parents:

‘}6 Call the children and talk to them_in a calm
manner.

(D) Put up their names on the board.

How many players atleast play Hockey and
Cricket ?

& s

Identify the diagram that best represents the
relationship among classes glven below

(A) 5 (B) 4 (D) 12

SUN, ENERGY, LIGHT

“©

“I

47.

A piece of paper is folded and cut as shown
in the question figures. From the glven
answer figures, indicate how it will appear when
opened ? h

:

Question Figures
T He
oiiate
Answer Figures
0 o o
Q
9 o ollo o
*) ® (0

A word is represented by only one set of
numbers as given in any of the alternatives. The
sets of numbers given in the alternatives are
represented by two classes of alphabets as in
two matrices given below: The columns and
rows of Matrix I are numbered from 0 to 4 and
that of Matrix Il are numbered from St 9. A
latter from these matrices can be represented
first by its row and next by its column, e.g. L
can be represented by 04, 31, 40 etc. and B
can be represented by 56, 98, 735 etc. Identify
the set for the word WINER.

Matrix-I Matrix-11
RAFIERE s[el7[8]9
ojwiN|RIm|L][slolBlEl1]D
Lin[R[M[L|w]||[6]D]o]BlE]I
2[Rim|L(w|n|[7]e|elT]D]O
3[M|L|w|N[R]|[8|E[1[D]O}B
alL|w|nN[r|m] [e]T|D]oTBTE

(A) 23, 86, 32, 76, 34
yif 32, 86, 33, 76, 43
(C) 32, 69, 22, 57, 43

(D) 00, 59, 33, 99, 98

SPACE FOR ROUGH WORK
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a2, v HEET & U A aafiaty & W 3w s

43.

g B0 T e B e
(A) T
(C) s &

(B) wome 89
(D) foien Ramd®

@ s A wel # UF W g v g § @
wEw o 51 fhere =1 oty 5

(A) 3 wedl & AP o dfda T

(8) Wl ® ¥ # S Aren-frn ) s w9
(C) el ) FerarT ST W TN TN Y |
(D) T W & 6y |

T8 e faend ) v R Sem 87

{A) 5 (B) 4 (C) 9 (D) 12

75 arva g @ 2 Ry ™ T ¥ G T

wh e e & -

W, S, v |
I

(®) (8 @

o@D o :

I
6 &1 & forl o

46.

47.

A we sgfd 4 fFEn y7an S 3 HeeT
FIEA Y W ¥ e 98 e 9 anpla o
forard am?

W gl
~ ||
AR gl
o 1lo o
o |i
Q c Ojjo o©
(A) (B) (€ (D)

T e Fue v e wye ¥ g v g G
et o 9 A v A v wn B Pl o R e
W wE, ARt & < i g i e E, S
Rt dE w15 w9 dr
R veEmos4n R MmmuH sHe
% | 1 3fgaa 9 UF A i TE A died Sl
w13 ¥ Y WE g S W wwa ¥ e
417 L) 04, 31, 40 af g wwifan on wemar & oan
B #) 56, 98, 75 I ¥ LI wvitE W wrA ko
e ¥ R 10 v WINER ¥ BT WEE-TE TeeiaT |

SR HFE-11

N IFFIE D 5]/6]718]09
olwin[r[M[L|[S|o|BlEl1]|D
1IN|IRIMILIW| |6|DJOJBJE]I
2|RIMILIWIN JIBIEJILIIDIO
IIM{LIWINIR BIEJT|DI|O}|B
alL|win[r[M]| [e]T|DlolB]E

(A) 23, 86, 32, 76, 34
(8) 32, 86, 33, 76, 43
(C) 32, 69, 22, 57, 43
(D) 00, 59, 33, 99, 98
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48. Which answer figure will complete the pattern | 49.

in the question figure ?

Question Figure

|

[

Direction : In question no. 44 and 45, select the
related letter/word/number from the given
alternatives.
44, 17:88::15: __7 _

(A) 77 (B) 66 (C) 76 (D) &7
45, 14:28:35::__17

(A) 1B:27:72 (B) 15: 30: 45

(C) 16: 32 : 40 (D) 12: 26 : 40

Amal is taller than Kamal but shorter than Bimal.
Bimal is taller than Parimal but shorter than

Utpal. If Kamal is taller than Parimal, who is
the shortest ?

(A) Utpal (B) Kamal

(C) Parimal (D) Bimal

50.

FOR VISUALLY HANDICAPPED CANDIDATES ONLY

‘? L )

48.

| 49,

From the given answer figures, select the one
in. which the question figure Is hidden/
embedded.

Question Figure
5

() (B) ey

(D)

Which of the answer is right image of following
letter ?

WINDMILL
(A) Liwaniw M JiIManIw
(C) LIIMDWMIM (D) LIIMDNIM

Find the wrong number in the glven seres.
3,8,4,15,6,35,9,79,13, 168
(A) 4 (8) 8 (C) 35 (D) 79

Find the odd number pair from the given
alternatives.

(A) 2,5, 11
(C) 4, 7,13

(B17'2; 10, 17
(D) 6, 9, 15

Choose the correct altemmative from the glven
ones that will complete the series.
4,32, 108, 256, __7 __, Bo4

(A) 480 (B) 498 (C) 500 (@) 520

From the given alternative words, select the
word which cannot be formed using the |etters
of the given word :

SIMULTANEQUSLY
(A) YEAST (B) SLIMY
(C} SATISFY (D) MOUSE

SPACE FOR ROUGH WORK
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7
W A
0 I
B |
|
e argstorai
’!
] | A || F
(n) (B) (C) (D)

‘9'

50.

& wé I anpfodi ¥ ¥ 96 IW APl B IR
forent et angfa ffka &
W angfa ¢
e angfaal

ol ] ||| |

(A) (8) (C) (D)

w—a) o Peafiftrn was o w8 wiofliy &7
WINDMILL
(A) JIIWaWIW (B) LIIMaWIW

(C) LIIMDWIM (D) LJIMDNIM

e :wea W 44 A 45 ¥ o e e O © P
IR T & g
44,

45.

46.

17:88::15:_2

(A) 77 (B) 66

(C) 76 ” (D) &7

14:28:35:: 2

(A) 18:27:72  (B) 15:30: 45

(C) 16: 32 : 40 (D) 12 : 26 : 40

v, o A w ¢ e e s k) fem,
uftva & @ & fbg vow @ o ¥ oft am,

oftws 9w k| T o FE Y
(A) T (B) THE
(c) R (D) Tt

47.

49.

& ¢ Een ¥ Tera Hew R FR |
3,8, 4,156, 35,9, 79, 13, 168
(A} 4 (B) 8 {C) 35 (D) 79
fae 7o faeedl § @ fawm d=m g g

(A) 2, 5,11 (B) 7,10, 17

(C) 4, 7,13 (D) 6,9, 15

few e vl 71 9w g S SER B O
4,32, 108, 256, __2 , 864

(A) 480  (B) 498  (C) 500 (D) 520
Frefafas fiwed % 9 98 wet g &) fe o o
¥ Sl o1 9 Hvd T T e
SIMULTANEOUSLY
(A) YEAST

(C) SATISFY

(B8) SLIMY
. (D) MOUSE

|
6 F1d ¥ ol e
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PART - II
GENERAL AWARENESS

Calculations are made in computer with the help ;| 58.
of Its :

(A) CU  (B) RAM  (GJ ALU (D) LSI
The keibul Ramjav, the only floating National
Park in the world, is in : -
(A) Nepal (B) Bhutan '
(C) Manipur (D) Mizoram
Monopoly Is a term associated with : l“
(A) Socialism  (Bf Mixed aconamy
(C) Communism (D} Capitalism
A Rocket works on the principle of law of 61.
oonservation of :
(A) Mass
(B) Linear momentum
(27 Energy
(D) Angular momentum L 62.
Uines drawn on the map connecting places that
receive same amount of rainfall are known as :
(A) Isctherms (B) Isobars 63.
(C) Ischalines (D) Isohyets
Defickency of vitamin C causes :
(A) Blindness {B{ Beri-beri

64.
(C) Anaemia (D) Scurvey
The Area reserved for the welfare of wildlife is |
called :
(A) National Park

65.

(B) Botanical Garden

[ﬁ Sanctuary
(D) Forest

TR

Union territory does not Include the
following :
(A} Andaman and Nicobar
Jammu and Kashmir
(C) Delhi
(D) Lakshadweep

Ranji Trophy s associated with
(A) Hockey

(B) Foat ball

(& Cricket

(D) None of the above

When money supply increases the price of

and services :
mcrems (B) Decreases

(C) No change (D) Can't be caiculated

Who has advocated the adoption of PURA model
to eradicate rural poverty ?

(A) A.M. Khushro

(B) Maulana Abdul Kalam Azad

@ A.P). Abdul Kalam

(D) Abhijit sen

Which country’s cricket team created test history

by successfully chasing a second innings target
of 418 runs to beat Australia ?

(X} England (B) Pakistan
(C) West Indies (D) New Zealand

Who among the fallowing was the longest
serving Chief Minister of any Indlan State ?

(A) Bairon Singh Shekhawat
(B) Jyothi Basy

(C) Devi Lat

(D) Pratap Singh Kairon

Which one of the following is the highest
producer of wool in the world 7

(A) New Zealand

(B) Canada

(C) United States of America
(D) Australia

The term of Rajya Sabha which was live years
under the original constitution was ralsed by
427 Amendment to :
(A) Seven years (
(C) Eight years

Six years
D) Nine years



51.

52.

53.

57.

www.eenadupratibha.net

i -~ I
AT ST
ey ¥ fred) woma A e fparwm §? | 58, ¥ vwads 3 Prafifea § S wmafm a8 6 7
(#) Cu (B) RAM (A) @rswr i AEmET
(B) Wy Y AR
ALU LSt
(C) | {DII © B
i (D) waEN
Eaﬁt? SN 0 YRR P g 59, ol 2 fres W B2
b ® o ®) e
(A) e (8) & (cy oz (0) ewdfa 4 & = @
(C) wfoR (D) P 80. o %@ A ¥ W & o e i dmal A
9
; (A) T E (B) =edi &
it e R g 8 7 (C) P Rt T A (0) R 6 B
) W (B) PP fwrmal || gy o i P v % fw PURA FfsE S
(C) HrFad (D) Yo 1 wn R an?

e frwis wivem % P & gl wad wea &7

(A) TEEH (B) ‘tfas wim

(C) Sl (D) =i wim | 62
AR O S9E 9 H 91 T e w1 e 9l
WEi e T Ta e ?

(A) THa = (B) TWEE TE 63.
(C) WerEm Y& (D) VR Y '
faFR & S T T 64
(A) o (®) T8

(C) Svaem (D) Tt

1 e & sern ¥ oy amefEm o @ T wE

amm &7 65.
(A) TGHI g (B) wreafa wEm

(C) =& (D) T

(A) TG

(B) FreN aregE HEAH A
(C) T, e e

(D) &t &=

firg 29 2 firde &M A aeformn & @6 ¥ fom
Td g A 418 T & W W STagde e
Fva gu ove # ghvew e ar?

(A) §E (B) i

(C) ¥ e (D) gliets

Paffre ¥ @ et ford s oy 3 st &
WY ¥ T w7

(4) Wi fiedene (B) SR E

(C) 8w (D) W fifs &

e ¥ waifs =9 =1 S Freefafes 4 4 om
%7 .
(R) iRTE

(B) =

(C) HF T A

(D) s

UREEA! 1 T O it W & i e o
o, 42 4 wivivers g w9 o e oy R ?
(A) Wrad (8) B: T

(C) s (o)
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Name the instrument which can record the | 75.
electrical changes during heart beat.

(A) Electrocardiograph

(B) Electrocardiogram

(C) Stethoscope

(D} Sphygmomanometer

The southernmost point of India is called : 76.
) Kanyakumari (B) Indira Point

(€} Rameshwaram (D) Capa Comorin

Which one of the following though termed | 77,
gardens, infact is not a garden as such ?

(A) Vrindavan Gardens of Mysore i!
(B) Khushro Gardens of Lucknow l
(C) Eden Gardens of Kolkata \
(D) Hanging Gardens of Mumbal

Leaves appear green because they : o
(A) Absorb green-fight
(B) Refect green light
() Both
) Neither
Bhagat Singh, Rajguru and Sukhdev were 79
hanged on : § =
(A) March 23, 1931 (B) March 23, 1932
(C) March 23, 1933 (D) March 23, 1934
Which of the famous ruler was called “The Father | 80.
of Inscriptions” ?
{A) Chandra Gupta Mourya {
(B) Ashoka 1
(C) Kanishka !
(D) Samudra Gupta
Tipu Sultan was the ruler of : 81.
[A) Hyderabad (B) Mysore
(C) Vijayanagar (@ Magadh
82.
Radinartive inert gas Is |
{P{ He (B) Ne (C) Rn (D) Xe

The harmfy compound in automoblie exhaust | 83,
s

u(i" Carbon dioxide

(8) Carbon monoxide

(C; Smoke

!jga All the above

The Chairman of the 13" Finance Commission
is :

(&) D. Subba Rao

(B) Montek Singh Ahluwalia

(C) Manmohan Singh

(Pf Vijay. L. Kelkar

The metal used In domestic electric cables is :
(A) Aluminium (8) Iren
Ua)f—":pp!r

(D) Nickel
stands for :

Computer Aided Design
(B) Computer Algorithm for Design
(C) Computer Application in Design
(D) Compact Aided Design

The resistance of a conductor Increases
with :

{A) increase in length

(B) Increase in temperature

(C) decrease In cross-sectional area
(D) all of these

The average salt content of sea water |s :

(A) 1% (B) 3.5%

(C) 10% (D) 12.3%

The city which has Headquarters of two railway
20nes is

(4) Kolkata

(B) Mumbai

(C) Both (A} and (B)
(D) None of the above

The Taymahal is affected by :
() co (8 no (& co,

First Indian Woman who reached Antarctica :
(A) Mohel Musa (B) Pritisu Gupta
(C) Geeta Ghosh (D) Ujjawala Patil

(D) SO,

Who Is the author of the book 'Question and
Answer’ ?

{A) Salman Rashdi
(B} Tasleema Nasreen
(C) Vikas Swarup

(D) Arvind Adiga
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20 wE & I Aga wRe 8 Red v a@ | 75, W fm amr @ i B E 7
TGEHT T A R . (A) B.g=IvE
(A) FErErETEATE (B) i e sEepier
(B) g Edmm (C) T e
(C) TUEHN (0) fawa v@, FEwe
() frgmriEriey l
(@) ol (8) Praae L YRR (| el
R (D) 9 Hfe | (C) T (o) P
mwmm m[ﬂm]ﬁimﬁ!], 77.  AE (CAD) &1 5 w1 §7
() ﬁﬁ'ﬁﬁﬁ"“ﬁ"f f (B) FeR Teiftes Wik Rw
(B) oEaE & gust A ) T T
(C) wrerrTen ¥ d54 R 0) st s R
(D) FFad @ i ards
et £ il R 30 E 7 78, T B WY e v S k7
(A) B TR 1 Srreie B (a) T i
(8) &% wTe wrafifa WA E () A A By
(C) = (C) e Fe &5 ¥ A
(D) ®rE A (D) ¥ 3 Wil
mmﬁd: IR T 79. % ¥ e ¥ sha wEm B ) e b7
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() w23, 1931 (B) F¥ 23, 1932 :, (C) 10% (0) 12.3%
(C) #rd 23, 1933 (D) Wid 23, 1934
T S 80. fore v # 2 Yo o w1 e &Y
w7 i i S
W wEadhd  (8) s TR
(c) whe (D) W% T | (O (AR (B e
(D) Fuda ¥ & o A8
&1y e & W o ?
(A) EETER (8) R 81, eromEe fras wafia 8 T k7
(C) faorg R (D) w1E (&) CO (B) NO (C) €O, (D) SO,
Tﬁ:ﬁﬂﬂiﬁﬂuﬂri? 2 | 82. v i ok v e ke A B
e | iud e i
E } 3¢ | (A) WEw e (8) Ry =
e (Fald § eferes & dm-wk? | (C) firen v (D) Swagen Wi
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(8) T ArhafreEe | 83, TEYE (VE YAY " G QR §1 9® B £
(C) gaf | (4) TEA TS (B) TR TR
(0) 9wl v (c) frrm e (D) ¥fam afEn
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Who was the author of the "Communist | 93.
Manifesto”™ and "Das Capital” ?

(A) Leo Tolstoy (B) Gorkhy :

(C) Turganew (D) Karl Marx |

The largest gland In a mammail is : 94.
(A) Liver (B) Pancreas

(C) Spleen (D) Parotid gland

Which of the following has no dimension ?

(A) Angular velocity

(B) Momentum

{C} Angular momentum

(D)} Strain 1 95,

The bottom of a beaker filled with liquid appears *
to be slightly raised due to :
(A} Refraction (B) Interference l
(C) Diffraction (&7 Rafection

From Guwahati to Chandigarh the maonsoon
rainfall shows : I

[Jlj‘ an increasing trend
(8] a decreasing trend |
[C) a cyclic trend

(D)} an irregular trend

Varghese Kurien was assoclated with :
(4] White Revolution
(B) Yellow Revolution
(C) Green Revolution
(D) Blue Revolution \

97.

Frontier Gandhi was the nick name of :
(A) Khan Abdul Gaffar Khan

(8) Vinoba Bhave

(C) Mahatma Gandhi

(D) MNone of the above

Which one of the following is a Qualitative Credit
Control Method 7

pl']' Open market operation

(B) Variable reserve ratio

(C) Moral suasion \
(D) Bank rate policy 1

{55,

Which of the following is.not a Government
Sponsored Organisation. ?
{A) SIDBl{Smal' Industries Development Board
India) ]
CICI {Industrial Credit and Inves ment .|
Enrpnratbnn of India) !
(C) NABARD (National Bank for Agricul'ure In |
Rural Development)
(D) Mational Housing Bank

!I 100.

Jhum Cultivation is still ﬁrmrilent i :
(A) Mizoram (B) Nagaland
(C) Manipur (D) Al of the above

What are the products of Photosynthesis In
plants ?

(4 Water and carbondioxide

(B) Water, oxygen and protein

(C) Water, oxygen and carbohydrate
(D) Protein, carbohydrate and water

Mangroves are :

{A) Rain forests

(B) Submerged coastal forests
(C) Tropical forests

(D) Deltaic forests

Koyana Hydro-electric Project is located in the
State of :

(A) Bihar

{B) Tamil Nadu

{C) Andhra Pradesh
(D) Maharashtra

Kaziranga National Park is famous for :
(A) Tiger (B) Musk Deer
(C) Elephant () Rhinoceros

The President submits his/her 1ettar of
resignation to :

(A) The Prime Minister

(B) The Vice-President

(&7 The Chisl-Justice of India
(D). Speaker of Lok Sabha

In which of the following substances, Il a few
drops of concentrated sulphuric acid Is, added,
It tums black ?

(A) Sugar
{C) Alcohol

(8) Edible salt
(D} Vinegar

Compelling an accused person to give specimen
signature amounts to :

(&) Violztion of right to personal liberty
(&7 Violation of rule of law

(C) Viclation of right to equal protection of laws
(D) Violation of principles of natural justice
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| PART - III
ENGLISH LANGUAGE AND COMPREHENSION

Direction : In Question No. 101 to 110, some parts
of the sentences have errors and some are correct.
Find out which part of a sentence has an error and
blacken the oval [«@e] corresponding to the
appropriate letter (&), (B), (C). If a sentence I5 free
from errors, blacken the oval corresponding to (D) in
the Answer Sheet.

101. [ already had vold/you about /

& (8)
ition/ Mo error.
()

(D)
102. Rajat’s brother as well as [fam guiity /
(A) e
No_efror.
(C) (D)

103. A fire was started agtidantally, /
(A)
but we were ahle /to out it out / No error.
()

(B) (D)
104. Scarcely he had/
(A)
when his brother called him back /No emor.
(C) (D)
105, un_muﬂn_h%w_mlmgj
(A)
No error.
(D)
106. amwwm_%ymw
{A)
is_available for sale/ Mo error
(C) (D)
107. Either he or his friends/
(A)

i ing_ /this show/ :
ﬁ: (©) v
108. Taking regular exercise/ ffor_health/
(A) (C)

No_error.
(D)
109. These tests /show whether someone /
(A)
is_having an Infection / Mo emor.
(C) )]
110. The later part.of Gandhl's life/

Direction : In Question No. 111 to 115, sentences
are given with blanks to be filled in with an appropriate
word(s). Four altematives are suggested for each
question. Choose the correct alternative out of the
four and indicate it by blackening the. anpropriate oval
[ @ ] in the Answer Sheet.

111. I will have ta on your opinion in

this matter.
(A} belleve {B) stand (£] follow (D} rely
112. There was so much material in the

speech that it was difficult to know what the
speaker wanted to say.

(A) extra (B) superficial
(C) beautiful (] varlegated
113, The men were asked not to while
the enemy advanced.
(A) go back (8) retreat
return (D) retire
114. Each person had to himself a

character in the musical play.
(A) administer (B) a sign
(£7 assign (D) attest

115. After the war, the battle fleld was littered with

(A) corpses (B) corps
(C) carcasses (D) cadavers
| Direction : In Question No. 116 to 120, out of the
| four alternatives, choose the one which best
| expresses the meaning of the given word and mark it
In the Answer Sheet,
116. Refrain
(A) shun (B) refuse
| 2y abstain (D) decline
; 117. Spasmaodic
(A) Fleeting (B) Capricious
(C) Desultory (D) Irregular
| 118, Hide
! (A) candid (B) protect
. {C) conceal banish
| 119. Uncouth
| (&) Rough (B) Ungraceful
“ (C) Slovenly (D) Dirty
120. Sanguine
E. (A) Depressed (B) Pessimistic
K (C) Anxious (D) Optimistic
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pirection : In Question No. 121 to 125, choose the

word opposite in meaning to the given word and mark |

it in the Answer Sheet.

121. Majestic

(A) Humble (B) Posing

(C) ﬁuqust (D) Submissive
122. Literal

fligurative (B) subjective

(2} objective (D) negative
123. Utopian

(A) Imaginary (B) Practical

{C) Escape (D} lusion
124. Cacophony

(A) Discord (B) Racket

(C) Harmany (D) Systematic
125. Guest

;A];:eruant (B)_ host

(C) maid (DY senior

Direction : In Question No, 131 t{o 135, the 1* and
the last sentences of the passage are numbered 1
and 6. The rest of the passage is sphit into four parts
and named P, Q, R and 5. These four parts are not
given in their proper order. Read the sentence and
find out which of the four combinations is correct. Then

' find the correct answer and indicate it by blackening

Direction : In Queslion No. 126 to 130, four I

alternatives -I1'I given forthe Idiom\Phrase underiined
in the séntence. -Choose the alternative which best

expresses thé meaning of the Idiom\Phrase and mark
it In the Answer Sheet.

126. The young people in the hall gave a loud cheer
to the older people who were culting the rua.
{A) dancing vigorously
(B) cutting the carpets
sitting calmly
(D) wearing trendy clothes

127. People who call 3 spade a spade are always |
appreciated.

(A) who play cards m’ whao tell the truth
(C) who help others (D) who are generous

128. He played ducks and drakes with his
property and was rulned.

(A) to sell (B) to gambie
pa to waste (D} to deceive

129. The lawyer tried to put words in his client mowth.
(A) not to tell anything ;
(87 tell a person what to say.
(C) ask a person to lie
(D) ask a person to pretend

130. Don't come in his way.
fire. '
(A} Burning yourself
(B) being angry
{C) facing an easy situation
(&7 facing a dangerous situation

ancestral

It is like playing with

the appropriate oval [ @ | in the Answer Sheet.

' 131, 1 Ashoka ascended the throne.after his father
Bindusar's death.
P Kalinga was anunéxed to' the Mauriyan
Empire,
: Q But they were vitimately defeated.
- R The forces of Kalinga put up a tough
'1 resistance.
S | Fight years after his coronation he attacked
Kaling,
| 6§ But the enormous loss of innocent lives in
’ the battie of Kalinga filled him with remorse.
' (8§ SPRQ (8) SRPQ
(C) PQRS (D) SRQP
1 Surprisingly, Salim Ali had no university
degree.
P He left for Burma to help his brother in his
farm.
Q In the jungles of Burma he looked for birds
instead of animals.
- R Although he joined cellege, his intense
I dislike for mathematics did not allow him to
continue his studles.
' S But here again he proved a fallure.
& When he returned home he did a course in
[ zoology and was appointed a guide at the
| museum of the Bombay Natural History
Society.
(A) PRS G ?af RPSQ
| (C) PQSR D) SPQR
' 133. 1 Anthony was acting oddly, even for-a robber
P It worked.
L Q He drew his toy oun, demanded money,
then askad the taller to-call the police.
i R He enterad a Hank In Pennysluania.
| S He later ewplained that he wanted to be
arrested-so he could get away from his wife.
€& | He-was sentenced to three years in prison.
1 (&) PQSR (B) PQRS
{C) RQPS BTRQSP
'| 134. 1 A few years ago, 1 was on holiday in the
| Himalayas.
| P 1 approached the owner of a restaurant.
Q It was a place inhabited by poor people and
' there was no proper hotel,
R 1 stopped for the night in a small village.
S He offered me a bed for the night.
I 6 | was surprised by the hospitality of these
| people with such frugal resources.
MRQPS (8) QRPS
| (C) RFSQ (D) FSROQ
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135. 1 Swami Vivekananda was the Hindu monk
of India.

P He went tc Chicage and attended the
Pariiament of Religion.

Sri Ramkrishna inspired him to serve the
poor suffering humanity as his god.

He came back to India.

Sri Ramkrishna the wonderful god-man of
Dakshineswar was his preceptor.

He founded the now world-famous
Ramakrishna_ Mission.

(R) PQRS (B) SQPR

(BT PQSR (D) PSRQ

Direction : In Question No. 136 to 145, a sentence
has been given in Active/Passive Voice. Out of the
four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active \gice
and mark your answer In the Answer Sheetl.
136. He has raised an important question.

() An important question has raised by him.

(B) important question has been raised by him,

An important question was raised by him.

(D) An important question is raised by him.
137. Some one has stolen my purse.

(A) My purse had been stolen.

(B} My purse is stolen.

£7 My purse was stolen.

(D) My purse has been stolen (by someone).

138. Amy couldnt handie the job alone.
{A) The job couldnt have been handled by Amy alone.
{B) The job could be handled by Amy alone,
(C) The job could not handie Amy alone.
(D) The job couidn't be handle by Amy alone.

139, Who broke the glass ?
By whom was the glass broken ?
(B) By whom Is the glass broken 7
(C) By whom has the glass been broken ?
(D) By whom had the glass broken ?

140. Two boys were helping a blind man.
{A) A blind man was helped by two boys.
(B) A blind man is being helped by two baoys.
A blind man was being helped by two boys.
(D) A blind man has been heiped by two boys.

141. Bring a glass of water.
(A) Let a glass of water Is brought.
(B} Let a glass of water has to be. brought.
{C) Let a glass of water is to.be brought.
(D)} Let a glass of water be.brought

142, The roof was repaired by John.
{7 John repaired the roof.
(B) John.repairs the roof.
(C).Jahn Is repairing the roof.
(D) John was repairing the roof.
143. Do you know her ?
(A) Is she known to you ?
Does she known to you ?
(C) Was she known to you ?
(D) Has she known to yvou ?

o 2o O

| 144, The injured were taken to the hospital by the

villagers.

(A) The villagars were taking the injured to the
hospital.

(B) The villagers are taking the Injured to the

" hospital.

(C) The villagers take the injured to the hospital.
{BY The villagers took the injured to the hospital.
1 kept the flowers In a vase,

(A) The flowers are kept in 3 vase.

(B) The flowers were being kept In a vase.

The fiowers were Kept in a vase.
D) The floviers had been kept in a vase.

Direction : In Question No. 146 to 155, a part of the
sentence In underlined. Below are given alternatives

145,

' to_the underlined part at (A), {(B), (C) which may

improve the sentence. Choose the correct alternative.
In case no improvement Is needed your answer is
(D). Mark your answer in the Answer Sheet.
146, ] saw a bioatl of hippopotamus.
(A). 1 saw a bloat of hippopotami.
1 saw a flock of hippopotamus.

(C) 1 saw a flock of hippopotami.
(D) No improvement
147. Bye, Sheila see you
later
(C) never

soon
(D) No improvement

r. 148. cattles are grazing In the feld.

catte s (B) cattle are
(C) cattles were (D) No improvement
149. Cowards die many times before their death .
(A) Cowards before thelr death many times die.
(B) Cawards before die many times their death.
(C). Cowards many times die before their death,

No improvement
150. His opponent was too strong, Ram had to
except defleat. _
(A) expect ] -accept
(C) confess (D) Mo improvement

| 151, The constable asked to the man what he was

doing at the shop-window.

(A} The constable asked the man what, at the
shop-window, he was doing.

{BY The constable asked the man what he was
doing at the shop-window.

(C) The censtable asked what, at the
shop-window, the man was doing.

(D) No improvement 1

152. | am confidant of winning the competition.
(A) confidence (B) confidential
K€} confident (D) No improvement

. 153, He told me that he wants tc have a talk with

me
cA{/he wanted

{(B) he is wanting
(C) he has been wanting
{D) Mo improvement
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154, The dacent from the mountain peak was slow

and painful,
(A) descent (B) decline
(C) decrease (D) No improvement

155. Not only the master but als» the servants was

sad.
(A) is {Bf were
(C) where (D) No improvement

Direction : In Question No, 156 to 165, a sentence
has been given in Direct/Indirect. Out of the four
alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct and
mark your answer |n the Answer Sheet.

156. | said to him, "You are the most trust worthy

d that I have."
I told him that he was the most trust warthy
friend that 1 had.

(8) I told him that he is the most trust worthy
friend that I had,

(C) I told him that he has bepn the most trust
worthy friend that I have.

(D) 1told himthat he was the mast trust worthy
friend 1 will ever have,

157. He sald, ‘Honesty is the best policy.
told that honesty was the best policy.
(B) He said honesty was the best policy.
(C) He said that honesty has been the best
policy.
(D) He says that honesty is the best policy.

158. He said to me, "May god bless you."
(A) He said to me that god may bless me.
(B) He said that [ may be blessed by god.
(€7 He prayed that god might bless me.
(D) He said that may I be blessed by god.

159. The policeman asked the man why he was
sleeping on the bench.
(A) The policeman asked the man, “Why were
you sleeping on the bench ? Were you
drunk ?°

(B) The policeman asked the man, "Why you |

slept on the bench ? Were you drunk ?°
(21" The paliceman asked the man, *Why are
you sleeping on the bench ?”
(D)} The policeman asked the man, “Why are
you sleeping on the bench 7 Was vou

drunk 7°
160. Joan said to her friend, “Thé colour is beautiful,
isnt it ?*
(A) Joan told her friend that the colour |s
beautiful.
(-Bf Joan asked her friend if the colour Is
beautiful, isnt it

(C) Joan sald to her friend that she thought that
the colour was beautiful.

(D) Joan said to her friend that the colour was
beautiful.

161. Do you know anything about them 7 She

asked the captain.

(A) She asked the captain does he know
anything about them.

(B) She asked the captain did he know anything
about them.

(2f ‘She asked the captain If he knew anything
about them.

(D) She asked the captain if he khgws anything
about them.

162, 1 implored the mother not to beat the child like
that.
() The mother told me, “Don’t beat the child
like this.” !
(B) 1 said, "Will you beat the child like this ?"
J}ZJ [ said to the mother, ® Please don't beat
the child like this.”
(D) I told the mother, "Do beat the child !lke
this.”

e

\I

“We have caught the main

163. lice officer said,
B T trying to catch his

culprit and we are
accomplices”,
(A} The police officer said that they had caught
' the main culprit and have been trying to
catch his accomplices.
(B) The police officer said that they have caught
the main culprit but not his accomplices.
officer said that they caught the
o lll'!.nhal?lr:ml cifl?:rir. and are trying to catch his
accompiices
The police officer said that they had caught
i the rﬁlh culprit and that they were trying
to catch his accomplices.

| 164. Othello said, "This is my first gift to my wife.”
(A) Othello said that it was his first gift to his
wiffe,
(B) Othello deciared that, that was his first gift
his wife.
Othello £ald that this was his first gift to his
wife,

(p/nmaun caid that, that is his first gift to his
wife.

ﬂ

-

.

165. Fernando said, "It was the best experience of
my stay here.”
Fernando sald that it had been the best
perience of his stay there.
Fernando said that it is the best experience
| of his stay there.
(C) Fernande said that it was the best
experience of his stay here.,
1 (D) Fernando said that it has been the best
experience of his stay here.




www.eenadupratibha.net

Direction : In Question No. 166 to 185, in the
following two passages some of the words have been
left out. Read the passages carefully and choose the
correct answer to each question out of the four
alternative and fill in the blanks.

Passage I (Q.No 166 - 175)

No Indian, irrespective of his colour or creed, has been
able to escape compietely from the Institution of caste.
Its laws __(166)  been obeyed by all without murmur,
complaint or hesitation. Even many a sublime
social _{167) has been sacrificed at the altar of caste
to _{168) admission to the social _(169) . In all
ages, anti-caste movements _{170) launched but
they were rendered __[(171)  due to the inherent
strength of the _(172) of caste. It remained
as _{173) as ever. As an institution of social control,
it has always been and _(174) __ a hindrance in the
development of social consciousness or national

A173) .
166. (] has (5{] had  (C)-always (D) have
167. (A) idea (A} e
(C) principle (D) go0d
168. (A) get . (B) earn~ (C) allow (2] seek
169, (A) renk (&) organization
{C} ‘wrder () code
170. (A) was (B} had (&) were (D) Is
171. (A) useless (B} ineffective
(C} powerless (D) futile
172. (A) institute (B) Institution
(&F organisation~~ (D) agency
173. (A} constant (B) delicate
(C) real firm
174. (A} continue to be (B) will continue to be
(C) become (D) going to be
175. (A) revival (B) resurgence

(C} renaissance (D) awakening

Passage II (Q. NO. 176 - 185)

Most British People go abroad on holiday to
visit family, or on short business trips. People are
(176} to find out how to get urgent treatment
before leaving the UK. They have to _(177) a fosm
which explains what they __(178)  do il they fall ill
or _(179) _ an accident, and what arrangements
exist in __(180) country for medical treatment. The
regulations are fairly simple but _(181) do not'have
this Information, they may _ {182}  that private
medical care is extremely expensiwé, -1t is not unusual
for people to discover that they do not have
_(183)  money with them to __(184)  the total
costs and (1881} . such circumstances an already
difficult slkustion bécomes even more complicated.

176. (A) advised (B) spoken
(C) sald (i) suggested

177. (A) bring {B{ﬁll (C) get (D) put

E

{B{ will

178. (A) should

(C) may (0) ought

179, % take (B). happen
get have

180. (&) each (8) one

(C) this (2] their
181. (A) because [«B{peuplt

(C) as (D) whether
182. (&) find (B} know ' (C) want (D) look
183. (A) little {8y full

(C) few th enough
184. {A) have . (B) cover Lﬁlspend (D) give
185, (A) at (B} up (C) on (&) in

Direction : In Question No. 186 to 200, you have 3
(three) brief passages with 5 questions following each
passage. Read the passages carefully and choose

| the best answer to each question out of the four

alternatives and mark it by blackening the appropriate
oval [ @ | in the Answer Sheet.

Passage I (Q.No. 186 - 190)

A poor Arab, travelling in the desert, was thirsty and
tired, when he saw a spring. With a grateful heart he
drank the water which he felt was extraordinarily
sweet. He filled his leather bottle with the pure water,
and continued on his way.

After many days he arrived at Baghdad. Securing an
audience with the potentate, he gravely presented
him with the leather bottle of water. It was the only
gift he had.

The Caliph received the gift with great pleasure.
Pouring some of the water into the goblet, he drank
it, and then, thanking the poor Arab, rewarded him
generously for his gift. _

All the courtiers pressed forward, eager tQ taste the
wonderful water. But the Caliph dén'ed them the
privilege, even to his favourites.

When the Arab had departed with & happy heart, the
Caliph explained why he had acted so strangely. The
water in the leather baltle, because of its long storage,
had become tmpure and foul tasting. He knew that if
the othérs had tasted the water, they would have
shown thalr disgust, and the poor man's feelings would
have-teesn wounded.

186. The Arab gave the Caliph
to drink without knowi
(A) the pure the foul tasting
(C) the wonderful (D) the sweet tasting

187. Only _______ felt that the water was
extraordinarily sweet.
(A) the Caliph (ef" the poor Arab
(C) the people (D) the favourites

188. The poor Arab had
Caliph.
(A) gifts
(&Y just one gift

water

to give to the

(B) just a leather bottle
(D) has many gifts
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189. The Caliph the wonderful water
which was presented by the poor Arab.
(A) shared (B) was eager to share
(C) finally shared did not share

190. The Caliph knew that others would show l'h!"ll‘
once they've tasted the water.®
disgust (8) appreciation
(C) feelings (D) wounds

Passage II (Q.No. 191 - 195)

In a village in India, two parties fell out as a resuit of
a dispute between two children over the possession
of a pin. Lathis were freely used and Injuries
sustained on both sides.

The more we are able to control our feelings, the more
we act like intelligent human beings.

Rather than merely avold losing our temper, which is
a negative procedure at best, we should strive to

' Passage III (Q.No. 196 - 200)

Beds are the best evidence of the importance that man
attaches to steep. What deep sleeper can have gazed
without envy at the monumental, spadious, four - poster
beds of the past ? It is easy to imagine one ciimbing
into a bed like this, drawing the curtains and enjoying
hours and hours of uninterrupted sleep. It is only in our
days that beds have been debased. The first victim in
our effort to save space has been, of course, the bed.
Everything is done to make it less conspicuous. It folds
up and disappears into the wall or parforms astonishing
acrobatic tricks and tuns KSelf into a couch or o
armchair. Even the bedroom as such has disappeared
and has been replaced by a thing called a 'sitting-
bedroom’ in which you can nefther comfortably sleep
nor sit.  What with further refinement like rubber
mattresses and electric blankets it is no wonder that
many of us suffer from insomnla and seck salvation from
alarm docks to wake up each moming. Psychologists,

show a friendly understanding and a consideration
for others, even when they have done things to irritate |
us. This does not mean being overly soft. It merely |
proves we are capable of disagreement without being
impolite. In your home, your office, driving along the
road, getting on the bus, shopping in the market, or
in a hundred daily drcumstances you have countiess
opportunities to show that we can rise above the
temptation to be impatient, complaining or sarcastic.

meanwhile are busy studying our sleep habits and tell
us that we cannot truly rest unless we dream. But most
of us dream during the few minutes of blissful sleep

I that follow each rude awakening. Only our ancestors

| knew the true value cf sleep., We have simply to
remember that Shakespeare not only gave the subject
a lot of attention but rated beds so highly as to make
out a will leaving his wife his ‘second-best bed'.

196. This passage deals with :
(A) the sleeping patterns of psychologists

191. Two parties in India fought over
(&) a pin (B) a village
]',E‘)' lathis two children |

192, We should to others in order to |
avold creating disputes.
(A) avoid negative procedure
(B) lose our temper
(27 be friendly and considerate
(D) cause injuries

~____avold being Impatient, complaining
and sarcastic in our life.

(A) We can choose o

(8) The temptation is too strong o
(C) It Is beyond us to

(D) We cannot

194, We act like intelligent human beings when
Wi

(A) stop a dispute between children
control our feelings

(C) freely sustain injuries

(D) we loose our temper

195. We should
done things to irmtate us.
{A) not be soft
487 show friendly understanding
(C) loose our temper
(D) be too soft

193.

|

when people have |

(B) monuments that resemble beds in the past
(C) modern beds and rubber mattresses
(BY the dedine in the importance attached to sieep
197. The phrase ‘less conspicuous’ means :
that which occuples less space
B) less obvious
smaller in size
) able to change without effort
198. In order to save space we have !
(A) invented the electric blanket
(B) cone away with comiortable beds
(C) forced sofas to parform acrobatics
(B7 Included faur poster beds in our rooms
199, °It is.only in our days that the bed has been
debased. This means :
(A) during our times the bed has been given
more Importance
during modern times the beds have been
relegated to basements
{C) the bed has been lowered in quality and
value today
(D) beds of higher quality are made today
200, According to the author, we suffer from insomnia
because :
(A) We attach more importance to wall

mountable beds
0,

We live in perpetual fear of the alarm clock
Shakespeare left his second-best bed to héis wific
We sieep ofi uncomfortable bedding 1./

=000~
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HAHHER- IN WHICH ANSWERS ARE
TO BE GIVEN

Diractions :— Each question or incomplete
statement is followed by four alternative
sugaested answers or completions. In each case,
you are required to select the one that correctly
answers the question or completes the statement
and blacken [«»] appropriate oval A, B, Cor D by
Black/Blue Ball-point pen against the question
concerned in the Answer-Sheet.

(For VH candidates corresponding oval will be
blackened by the scribe.)

The following exampie illustrates the manner in
which the questions are required to be answered,

Exampile :(—
Question No. 'Q' —

Out of the four wards given below, three are
alike in some way and one is different. Find the
ODD word :

(A} Gir

(8) Bay
(C) Woman
(D) Chair

Explanation :— In the above example, the correct
answer is "Chair’ and this answer has been
suggested at ‘D" Accordingly, the answer is to
be indicated by blackening [«»] the oval by Black/
Blue Ball-point pen in column ‘D’ against Question
No. 'Q' in the manner indicated below :

Question No. 'Q’
[A] [B] [C] L J

There is only one correct answer to each
question. You should blacken @] the oval of
the appropriate column, viz., A, B, Cor D. If you
blacken [@®] more than one oval against-any
one question, the answer will be treated as wrong.
If you wish to cancel any answer, you should
compietely erase that black marik in the oval in
the Answer-Sheet, and then blacken the oval of
revised response.

You are NOT reguired to mark your answers In
this Booklet. -All answers must be indicated in
the Answer-Sheet only.
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